	Ms. Anderson’s class has 278 square feet in her classroom.  Ms. Young’s class has 239 square feet and Mrs. Lieu class has 298 square feet in her classroom.  What is the best estimate of the total square feet in all three classes?

A) 820
B) 900
C) 750
D) 815
	What is 1.9278 rounded to the nearest thousandths

A) 1.9270
B) 2.0000
C) 1.9300
D) 1.9280
	Alexis read 145.9 words per minute on his first try.  On his second try he read 152.52 words per minute.  What were the combined words read on his first and second try?

A)   167.11
B)   298.45
C)   2984.5
D)   16.711 

	In order to compete 21 + 31 using mental math, Ambar did the following.  What is the missing number that makes the statement true?
21 + 31 = 21 + (30 + 1) = (21 +? ) +1


A) 21
B) 1
C) 30
D) 7
	Which two classes added makes less than 50 kids?

	Class
	Lieu
	Anderson
	Young
	Brenzel

	Kids
	32
	33
	40
	17




A) Young and Brenzel
B) Chien and Brenzel
C) Lieu and Brenzel
D) Chien and Young
	Casita rests on 245.87 acres of land and Breeze Hills rests on 269.1.  How many more acres of land does Breeze Hill rest on than Casita?

A)   21.24 acres
B)   21.89 acres
C)   14. 21 acres
D)   23.23 acres

	The table shows the areas of two islands.  How many more square miles is the area of Greenland than the area of New Guinea?
	Island
	Area (square miles)

	Greenland
	839,999

	New Guinea
	316,615



A) 1,156,614
B) 1,145,504
C) 587,716
D) 523,384
	In 2005, there were 2,100,990 farms in the U.S.  Which of the following is 2,100,990 rounded to the nearest thousand?

A) 2,101,100
B) 2,101,000
C) 2,100,900
D) 2,100,000
__________________________________
A lecture hall has 479 desk chairs and 216 folding chairs.  How many seats are there in all? Use mental math to solve.

A) 615
B) 685
C) 695
D) 785
	Which of the picture represents the problem?  Parson’s Sporting Goods ordered 56 T-shirts in sizes small, medium and large.  If 23 T-shirts are medium and 12 T-shirts are large, how many are small?

A) I----------56 shirts in all-----------I
	 23
	12
	?



B) I------------? shirts in all--------------I
	23
	12
	56



C) I-----------56-----------I
	23
	?



D) I-------56 + ?--------I
	23
	12




	Parker had a batting average of 0.287 and Spencer had an average of 0.301.  How much higher was Spencer’s batting average than Parker’s?

A) 0.256
B) 0.14
C) 0.023
D) 0.014
	[bookmark: _GoBack]Cassidy logged the miles she rode on her bicycle in the table shown.  Which is the best estimate of the total miles Cassidy rode during the first two weeks?
	Week
	1
	2
	3
	4
	5

	Miles
	12.3
	7.8
	6.2
	11.8
	9.5



A) 19
B) 20
C) 26
D) 38
	In the 2004 Presidential Election, 62,040,610 people voted for George W. Bush and 59,028,439 people voted for John F. Kerry.  What was the total number of votes for the two men?

A) 121,069,049
B) 121,068,049
C) 111,069,049
D) 121,169,049
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